4 3 < 2 1

CLOPAY MODEL 3200, 3220 REVISIONS

HOLMES MODEL 240 REV. NO.| ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION
00 - 2/8/17 - - INITIAL RELEASE
01 - 02/2022 - JDW REVISED FOR TDI.

(1) 20 GA. X 2" GALV. STEEL BACKER

PLATE AT EACH INTERMEDIATE HINGE
THIS PRODUCT COMPLIES LOCATION. BACKER PLATE ATTACHED WITH
WITH THE 2018 IBC/IRC. ggugggRsmED ACRYLIC ADHESVE TO BACK UL BA S e SEC o
’ A—A FOR DETAILS VIEW 'B’
A ADJUSTABLE TOP ROLLER BRACKETS
T-STRUT — SEE SECTION A-A FOR
DETAILS
OPTIONAL ALUMINUM FULL VISION WINDOW LITE SECTIONS AVAILABLE,
! 2 SINGLE PANE OR INSULATED. ALL PANES ANNEALED GLASS OR STRONGER.
p @ o y SINGLE PANES §° OR THICKER. INSULATED WINDOWS J° THICK, CONSISTING
” i ” - # 7 # ” OF (2) PANES §* THICK. FULL VISION SECTIONS TO HAVE SAME
A REINFORCEMENT AS OTHER SECTIONS EXCEPT AS NOTED. INTERMEDIATE
; GLAZING PANELS TYP. 22° WIDE; END PANELS SHALL NOT EXCEED 357
4 MAXIMUM DLO: 33" X 21-3/4™,
VIEW ‘A’ TWO POINT
(MIN) LOCKING
REQUIRED
i | iva
1
8 B8
L A

3" ROLLER CARRIER

MAX. DOOR WIDTH 24'-2" PART § 0120394.
MOUNT WITH QTY 3
SELF DRILLING SCREWS
AS SHOWN

(4) #14x5/8" SHEET
¢/ METAL SCEWS

NUMBER [F cr. |NUMBER DF
DOOR WIDTH  |INTERMEDIATE DOOR HEIGHT A" | o ry1aNs
HINGES —

. . UP TO 8-0 4

(2) 1/4"x3/4" SELF P0°'-3" THRU 24'-2* 5 8-3" THRU 10°-0" 5

TAPPING SCREWS 10'-3“ THRU 12'-0" 6

14 GA. INTERMEDIATE HINGE 1g'-3" THRU 14’-0" G

14 GA. END HINGE VIEW "B" 14'-3" THRU 16'-0" 8

VIEW A VEW S5 16'-3" THRU 18'-0" 9

MAX. SECTION HEIGHT: 24

SNAP LATCH ENGAGES

ONTO VERTICAL TRACK. END
ONE SNAP LATCH ON STILE.

5155 56LT MOER EACH SIDE OF DOOR.

ENGAGES INTO IMANUFACTURING PRODUCT CODE:

VERTICAL TRACK. OUTSIDE MPC: C-DSIE-1F447

ONE LOCK ON HANDLE. LOCK BAR DESIGN LOADS: +25.0, ~25.0 PSF

EACH SIDE OF OUTSIDE END ENGAGES IN TEST LOADS: +37.5, —37.5 PSF PART NO.: N/A

DOOR. KEYED STILE TRACK ON Unless_Stated Otherwise | (D [:I 8585 Duke Boulevord CLOPAY WINDLOAD RATING

. ﬂl
HANDLE. EACH SIDE TOLERANCES ore | ymm WlOPAY 1% 3135596 4800 \/\/ 4
| i INSIDE HANDLE OF DOOR. 0 = +.031 CORPORATION Fax No. 513-770-4853
: TSIDE K K_WITH L (g0 = 015 |DESCRIPTION: MODEL 240/3200/3220 WINDLOAD 24'-2"
VS, ‘,\,6“‘:‘ SNAP_LATCH LOCK OPTION. 0000 = :I::(}H DRAWN BY: RJH DATE: 2/8/17 | SCALE: NTS DWG.
"iNoay T Degrees = +1/2° . . SIZE

DESIGN ENGINEER: MARKWESTERFIELD, P.E. Unless Stated Otherwise CHECKED BY: DALR: tili S
FLORIDA P.E. §48485, NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.[DWG. NO.: 105197 VER: DI

4 3 -~ 2 1




4 3 A 4 2 1

CLOPAY MODEL 3200, 3220 REVISIONS
HOLMES MODEL 240, 240G REV. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION

01 - s - - SEE REVISION HISTORY ON SHEET 1

SILICONE FILLED CHANNEL SEPARATES FRONT
AND BACK SKIN OF DOCR

D HORIZONTAL (TOP) JAMB JAMB TO SUPPORTING STRUCTURE ATTACHMENT i
= /_(NO LOAD FROM DOOR) NOTES: 1.95" THICK, 1# DENSITY i 2" THICK
a— | VR I e e son g s o e e mo pey T e o eXPANDED  pOLYSTYRENE FO B ¥ TAL x 20 A GAV. STEEL -t
A\Y TRANSFERNED S0 THE. HOMEONTA. (ToP) ey INSULATION  LAMINATED TO BOTH I ATTACHED ONE AT THE TOP OF EACH SECTION
2. EACH VERTICAL JAMB SEES A MAXIMUM DESIGN LOAD OF +300 LB & -300 LB. PER LINEAR EXTERIOR AND INTERIOR SKINS. EACH U—BAR ATTACHED WITH (2) 1/4"x3/4"
3. ALL JAMB FASTENERS MAY BE (BUT ARE NOT REQUIRED TO 8E) COUNTERSUNK TO PROVIDE A SELF TAPPING SCREWS AT EACH BACKER PLATE
/‘ FASTENER FLUSH MOUNTING SURFACE. & 4 SCREWS ON EACH END STILE
TYPE 4. A 1/3 STRESS INCREASE FOR WIND LOAD WAS NOT USED IN THE CALCULATION OF ALLOWABLE
/ LOADS FOR ANCHORS AND FASTENERS FOR STEEL, CONCRETE AND MASONRY.
12 GA. GALV. STEEL TOP ROLLER BRACKET. EACH
MAX. 0.C. NOTE: 2x6 WOOD JAMBS ARE NOT REQUIRED WITH CONTINUOUS ANGLE MOUNT TRACK. HOWEVER, BRACKET ATTACHED W/(4) #14x5/8" SHEET METAL

SCREWS. ADJUSTABLE SLIDE ATTACHED TO TOP
BRACKET WITH (2) 1/4"x1/2" BOLTS AND NUTS PER
BRACKET. (2 BRACKETS PER SIDE)

IF DESIRED ON STEEL JAMBS OR CONCRETE OR BLOCK WALLS, APPROVED FASTENERS AS
DETAILED BELOW SHOULD BE INCREASED IN LENGTH BY 1—1/2° AND INSTALLED DIRECTLY
THROUGH THE ANGLE AND 2x6 WOOD JAMBS INTO THE STEEL JAMBS OR CONCRETE OR BLOCK
WALLS. ANCHORS CAN BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A FLUSH

MOUNTING SURFACE. CONTINUOUS ANGLE TRACK CAN BE ANCHORED DIRECTLY TO GROUT
/— 2x6 VERTICAL JAMB \ REINFORCED BLOCK WALL OR 3,000 PSI MIN., CONCRETE COLUMN OR STEEL JAMBS. TONGUE AND G\'T(())lcf\)l¥§
C { ‘ —4"—
' IR
1-7/8" |‘=| 4_11_/4
T VIEW "D”
VIEW C 4" TALL TAPER STRUT
3" TALL U-BAR 0.062" MIN. GALV.
20 GA. GALV. STEEL, STEEL. 80 KS). MIN.
50 KsI 14 GA. GALV. STEEL ROLLER HINGE.

(SEE VIEW A)

24 GA. MIN. EXTERIOR STEEL WITH GALV. B

& POLYESTER FINISH '\ [ ONE 4" X 80 KSI X .062" T-STRUT PER SECTION.

EACH T—STRUT ATTACHED AT EACH HINGE LOACTION

27 GA. MIN. INTERIOR STEEL SKIN WITH WITH (2) 1/4"x3/4" SELF TAPPING SCREWS [(4) AT

B CAEN & [ROCVESTIER (INSH EACH DOUBLE END STILE]. (SEE VIEW "D")
12 GA. GALV. STEEL BOTTOM
Tl P T BRACKET. ATTACHED WITH (4)
TVTA : #14x5/8" SHEET METAL SCREWS.
ON-CENTER
DISTANCE ~ [STEEL
— BETWEEN _[WASHERS
BUILDING TYPE FASTENER TYPE FASTENERS" REQU[RED?
[HOLLOW BLOCK WALL 1/4" x 1-1/4" MIN. EMBED ULTRACON CONCRETE ANCHOR 5-1/2" " 0.D. )
GROUT FILLED BLOCK WALL [1/4” x 1—-3/4" MIN. EMBED ULTRACON CONCRETE ANCHOR 9~ 1" 0.D. ¢ HMEEN ESTRESION, de VINVE WEATHERSTRIR
2000 PSI MIN. CONCRETE _ [1/4" x 1" MIN. EMBED ULTRACON CONCRETE ANCHOR 8" 1" 0.D. .
2000 PSI MIN. CONCRETE _[1/4" x 1" MIN. EMBED TAPCON CONCRETE ANCHOR 7=172" 1" 0.D. SECTION A—A (SiDE VlEW)
112000 PSI MIN. CONCRETE |3/8" x 1—3/4" MIN. EMBED WEJ—IT ANKR TITE SLEEVE ANCHOR 16—37/4"__ | INCLUDED
14000 PSI_MIN. CONCRETE |3/8" x 1-3/4" MIN. EMBED WEJ-IT ANKR TITE SLEEVE ANCHOR 24" INCLUDED ?“/I\%EFTERT]% gRlﬂné"iT 10“'__92 47
- WOOD FRAME (SYP 0.55 SG)I1/2" x 3" LAG SCREW (ASTM A307. GRADE A) 1-5/8" EMBED INTO STRUCTURE 18" 1~ 0.D. :
v 14GA STEEL (0.060” MIN.) [1/4"—14 x 1" TW BUILDEX TEKS SELF-—DRILLING FASTENER 7-1/2" 1~ 0.D. DESIGN LOADS: +25.0, —25.0 PSF
= [ 1/4"=14 x 1" TW BUILDEX TEKS SELF—DRILLING FASTENER 13-1/4" |1" O.D. TEST LOADS: +37.5, —-37.5 PSF PART NO.: N/A
8" STEEL 1/47=14 x 1" [TW BUWDEX TEKS SELF—DRILLING FASTENER 15-3/4" |1 0.0 Unless Stoted Otherwise | (D B585 Duke Boulevard CLOPAY WINDLOAD RATING
* FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM ON—CENTER DISTANCE. HIGHEST ANCHOR INSTALLED TOLERANCES ore |\ nlnpay }‘eﬁs‘;;‘o %"1'345770 4800 \/\/ 4
& AT LEAST AS HIGH AS THE DOOR OPENING. 0 = +.031 CORPORATION Fax No. 513-770-4853

v CLOPAY DOES NOT SUPPLY JAMB ATTACHMENT FASTENERS.

_.j" MINIMUM DISTANCE BETWEEN CENTER OF ANCHOR AND EDGE OF CONCRETE BLOCK: 2—1/2", EXCLUDING STUCCO THICKNESS. 688 = i-gc‘)g DESCRIPTION: MODEL 240/3200/3220 WINDLOAD 24'-2"
_6000 = d::OO‘I DRAWN BY: RJH DATE: 2/8/17 |SCALE: NTS DWG.
Degrees = +1/2° |CHECKED BY: - DATE: — SHEET 2 OF 4 [SIZE
DESIGN ‘ENGI}\L WARK WESTERFIELD, P.E. Unless Stoted Otherwise
FLORIDA P.E. 48495 NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.|DWG. NO.: 105197 VER: TDI

4 3 S 2 1




4 3 B 4 2 1

CLOPAY MODEL 3200, 3220 REVISIONS
HOLMES MODEL 240, 240G REV. NO.| ZONE: [ DATE: | ECN No.| APPVD: DESCRIPTION

01 - - = = SEE REVISION HISTORY ON SHEET 1

LHR BRACKET (2-1/2" x 5-3/4" x 12GA)
ATTACHED WITH (2) 1/4" x 3/4" SELF TAPPING
SCREWS.
" TRACK CONF! ' | DOUBLE_TRACK
JAMB CONFIGURATION
m LOW HEADROOM OPTION
CENTER HANG REQUIRED FOR FOR DOORS WITH 3" TRACK. SUBLE HORIZONTAL

NOTE DOUBLE TRACK LOW DOORS OVER 8" HIGH. pouaL

HEAGROOM, HI—LIFT TRACK, ; |

FOLLOW-—THE— ROOF / _ ; 1" DOOR OVERLAP (EACH SIDE) —| |—  OPTIONAL STOP MOULDING BY DOOR INSTALLER (TO SUIT).

TRACK, AND VERTICAL LIFT
TRACK ARE AVAILABLE

16 GA x 6" x 1—-7/8" GALV. STEEL DOUBLE END STILE FASTENED
WITH TOG-L-LOC SYSTEM AT TOP, BOTTOM AND CENTER.

OPTIONS. B 2x6 SYP JAMB (IF PRESENT; A C :
TRACK CONFIGURATION 3" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK SEE JAMB NOTES ON SHEET 2). b 18 GA. x 2" x 1-7/8" x 3/4” GALV. STEEL INTERMEDIATE
ABOVE THE DOOR OPENING THICKNESS: 0.101°. ANGLE THICKNESS: 0.080". HORIZONTAL TRACK 7 HINGE FASTENED TO DOOR SKIN WITH TOG-L-LOC SYSTEM
DOES NOT AFFECT THE MIN. ANGLE DIMENSIONS 3—1/4" x 2-7/8". SUPPORT BY DOOR | | AT TOP, BOTTOM AND EACH MAJOR RE.
WIND LOAD RATING. VERTICAL/HORIZONTAL TRACK 14" MAXIMUM SPaciNG  '\STAWLER (To sum. ] o l
B 3-1/4" x 2-7/8" MIN. x 0.080" TAPERED
- HUNCTION. D Tis BAlS o s ANGLE. SEE LAG BOLT MOUNTING AT TRACK | % s G b CETER I
& NUTS FOR EACH TRACK. AC . i . ]
] — CONFIGURATION BELOW. 7/16" 1.D. ROUND FASTENED TO SECTION W/(4) EACH
T PUSH NUT #14x5/8" SHEET METAL SCREWS.
x N ADDITIONAL MOUNTING SLOTS FASTENER.
8 [’ SPACED AT 12" CENTERS. . .
o -101 T(EHll%gE:Is?Eé;%XGLSETE%AEEAiKTT:éSEEN'Erg 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END
I " " A & STILES W/(4) EACH #14x5/8" SHEET METAL SCREWS
= =12" ON CENTER TAPERED ANGLE WITH ONE 1/4°x5/8" BOLT & AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE
' - — NUT AT EACH MOUNTING SLOT. :
SR ] 3" DIA. 8-1/2" LONG STEM BALL BEARING STEEL ROLLER.
y I
o SECTION C-C
% 34" ONE. 4" TRACK BOLT AND NUT AT EACH PREPARATION OF JAMBS BY OTHERS, MANUFACTURING PRODUCT CODE
i ﬁ MOUNTING SLOT LOCATION. MPC: C-DSIE-1F447
S DESIGN LOADS: +25.0, —25.0 PSF
Pt Ak LENGTH "y y TEST LOADS: +37.5, —37.5 PSF PART NO.: N/A
HEIGHT ONE 5/16" x 1-5/8" LAG SCREW SPACED AT THE SAME T —————— T :
jeLe e DISTANCES AS THE TRACK BOLTS (LE. 3-1/2", 107, 22", 34", TOLERANCES e -ulﬂpa Baoon. DorE sttt ord ELERE) [SANDEEAD, RETING
T 46", ETC.). ADDITIONAL LAG SCREWS LOCATED AT 16", 28", & cre | R V 8 S50 00 \/\/ 4
10—07 108 40" FROM BOTTOM. TWO LAG SCREWS ALSO LOCATED ABOVE 0= +.031 |CORPORATION  Fox No. 513-770-4853
2’=07 132" VERTICAL/HORIZONTAL TRACK JUNCTION. 683 = :-gég DESCRIPTION: MODEL 240/3200/3220 WINDLOAD 24'—2"
-0 156" 000 = .
. : X 6-0 180" .0000 = 1,0/01 DRAWN BY: RUH DATE: 2/8/17 |SCALE: NTS DWGC.
G v z ST AT = _
ey LA Z=0] 204, Degrees = +1/2° |CHECKED BY: - ATE: — EET 3 OF 4 |SIZE
DESIGN ENGINEER: MAKR ‘WESTERFIELD, P.E. 8—0"1 228 o TP T hareiie KED EY: DATE: s OF
FLORIDA P.E. f48495,.NC- P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.| DWG. NO.: 105197 VER: TDI




4 3 - 2 1

CLOPAY MODEL 3200, 3220 REVISIONS
HOLMES MODEL 240. 2400 REV. NO| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
01 = - - = SEE REVISION HISTORY ON SHEET 1
THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE STANDARD ASSEMBLY CONSTRUCTION:
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE OPTIONAL LITES WITH DSB OR BETTER GLAZING AVAILABLE. OPTIONAL FULL VISION SECTIONS WITH DSB OR BETTER GLAZING AVAILABLE.

OR INTERNATIONAL BUILDING CODE BUT DOES NQT MEET THE THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIANCE WITH THIS SECTION MEETS THE WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE

IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET THE IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS REGIONS (REF. CHAPTER 16
REGIONS (REF. CHAPTER 16 FBC/IBC) FBC/IBC).

NON—IMPACT—RESISTANT
FULL VISION SECTION OPTION

p 77
p 7

OPTIONAL ALUMINUM FULL VISION WINDDW LITE SECTIONS AVAILABLE
(1/8° DSB, 1/8° ACRYLIC, 1/74* WIRE OR BETTER). FULL VISION SECTIONS.
DPTIONAL ACRYLIC IS PLASKOLITE OPTIX, AN APPROVED CC2 PLASTIC IN
COMPLIANCE WITH IBC/FBC 2606.

STANDARD ASSEMBLY DETAILS

MANUFACTURING PRODUCT CODE:

MPC: C-DSIE-1F447

DESIGN LOADS: +25.0, —25.0 PSF

TEST LOADS: +37.5, —37.5 PSF PART NO.: N/A
Unless Stated Otherwise - nl 5585 D8h64g3hléevl?srg CLOPAY WINDLOAD RATING
jason,
TOLERANCES ore | uum WoNODPAY 1350 415459024800 W 4
0= +031 |CORPORATION  Fax No. 513-770-4853
683 = 015 |DESCRIPTION: MODEL 240/3200/3220 WINDLOAD 24'-2"
‘ 0000 = +.001 |DRAWN BY: RUH DATE: 2/8/17 |SCALE: NTS DWG.
Foar, . Degrees = x1/2° L . _ SIZE
DESIGN ENGINEER: MARK WESTERFIELD! PEA' N R CHECKED BY: DATE: SHEET 4 OF 4
FLORIDA P.E. 48495, NC P.E. #23832, TEXAS P.E. 91513 DIMENSIONS ARE IN INCHES.| DWG. NO.: 105197 VER: TDI

4 3 & 2 1




